Ontario Secondary School Literacy Test

Section B: Writing

Multiple-Choice (Record the best or most correct answer on the Student Answer Sheet.)

1l Which sentence does not belong in the
following paragraph?

(1) In keeping with tradition, the Olympic
flame bumed throughout the 2010 Vancouver
Games. (2) The flame was flown to Canada
from Greece and relayed across the country
by 12 000 runners. (3) Imagine running over
rough terrain with a torch in hand. (4) The
flame even travelled by boat, snowmobile and
dogsled. (5) It was extinguished at the closing
ceremonies to signal the end of the games.

A sentence 2
B sentence 3
C sentence 4

D sentence 5

(2| Choose the sentence that best combines the
following sentences.

Computers are useful tools.

Computers allow students to keep their
homework neat.

Computers are too expensive for some
students.

F  Computers are useful tools, but they
are too expensive for some students,

G Students can keep their homework neat
because computers are useful tools.

H Although they are too expensive for
some students, computers are useful
tools that allow students to keep their
homework neat.

J  Computers are useful tools for students,
and they allow students to keep their
homework neat, and they are too
expensive for some students.

What punctuation is missing from this sentence?

If I wear my running shoes to school on
an icy day I might slip and fall.

A acolon
B aperiod
C acomma

D asemicolon

Bl Choose the sentence that is written correctly.

F “Ohno” she exclaimed. “What will we
do next?”

G “All right,” sighed Miguel, “we’ll try
harder tomorrow.”

H “Watch out!” cried Manuel, “The bus is
coming right now!”

J  “Wow! Where did you find that beautiful
dress” Sara asked?
Which sentence is written correctly?
Greg and him fixed the car.
We told her and Sarah the news.
The bill was addressed to he and I.
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Them and their parents paid for the repair.

End of Section B. Continue to Section C.
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